EIG A

TAEAR JEHE VAL X PDPO-1001 .o dbHA2-2 i B Il H LyhAe sl FHL 2k L 4
pvadc | M S | m | Rk | REER | Rauni| B | mgor| wb | asen | TS| e
FL 2 ZDNBYJ-2. 5 / TR AR 13% 100000 *
FH 28 BV-2.5 / TR AR 13% 250000 *
L2k BV-4 / TR TG [ 13% 50000 PS
L2k BV-10 / SRS RS 13% 50000 S
2K NBYJ-2. 5 / WG W5 [H 13% 50000 *
HL 2 ZD-BVV-2. 5 / WA AR 13% 50000 K
H 2 ZD-BV-2. 5 / TR AR 13% 50000 *
HLZL WDZDN-2. 5 / TR PEILE [ 13% 50000 P
L 2k 7D-BV-4 / WA TEW AR 13% 50000 7S
HLZ& WDZ-BY J-4 / AR W5 [H] 13% 30000 S
HL 2 WDZ-BYJ-2.5 / TR AR 13% 30000 *
HL2k WDZ-BYJ-6 / TR A A 13% 10000 *
am | OS] e | wnsam 3% | 1s10 |k
2 MBI~ | e | wnan 13% | 631 *
L4 WDZA-YJY-5%10 / AR PERA A 13% 787 S
HL 4 WDZB-YJY-5%6 / TR PG 13% 53 K
L4 GN-AL (BTLY) —5%6 / TR A 13% 956 P'S
HL 45 WDZ-BY J-5%4 / TR PEILE [ 13% 40 *




75 74K
oy i
| . mE | W | sAERE | R
19 HL 25 JREESR | AEBLRA| B
45 |GN-AL(BTLY) -5%4 SR | Bl | BEscR | b | & P
0 " / s | Ens | iy | P Fo i o
A = 0 i
B WDZA-YJY-5%4 / e 1 1556 ZS v .
15 N AP =
21 g GN-AL (BTLY) - ; - AR 13% 1305
5%25 HEHER 3 = A
99 %gg}: . - LE H li)ﬂhﬁ 5] 13
A-YJY-5%16 / N 3% 60 *
23 s GN- W E R A
o 25 N-AL (BTLY) - ) - 13% 173
4%150+E70 PERAE - PN
A5
24 G GN-AL (BTLY) - - AR 13% 163
2 (3%50+1%25) / EAE ' PN
! M A
25 Ha GN-AL (BTLY) - ) - R 13% 200
4%10 AR A PN
26 H 45 WDZA-FD-YJY- - R 13% 9
, A%50+1%25 / e | EneRs % *
7 HL2 WDZAN-Y JY- e 13% 56
3%35+2%16 / VEAAE . K
Gl A
28 FHL2 WDZA-FD-YJY- - L& TH 13% 1
; 4%120+1%70 / PELA I AR " *
9 2 WDZA—FD-Y Y- i 13% 956
4%]185+1%95 / iiJI_IA4 " jK
30 L2 WDZA-YJY~- A R 13%
0 4%25+1%]156 / AR AR o K
s GN-AL (BTLY) - ) el 13% 285
4%25+1%16 PERA R . PN
32 HL2 WDZA- el FRER 139
A=Y JY-5%6 / N 3% 878 *
33 1 PRET | AT
2 ZAN-YJV-5%4 / N 13% 300 P
a4 N 1$JITL% E 1$EA =
iR ZA-YJY-1KV- ) - 13% 122 *
4%35+1%16 AR " z
3 Mg | WDzZAN- VAR | A 139
N-YJY-5%10 y A 3% 200 *
La A E =
36 g WDZA-Y JY— - ERER 13% 50
4%25+1%16 / VLA [ N *
PN
37 HL2 GN-AL (BTLY) - ) - R 13% 487
3%20+2%16 VEATAE . PN
Gl A
38 HL4 FD-GN-AL (BTLY) - ; H LA 13% 100
210 WLER | ERAR *
13% 336 *




. ot - : N - SRR N
i wi B | R | HoREE | REER | Rasnn| B |meme| e | asee | TP g
45 WDZAN-Y JY~5%4 / HHAER AR 13% 30 *
45 WDZB-YJY-5%10 / HEHER ERER 13% 60 *
. WDZA-FD-YJY- o - . - N
a5 AN = A= 0
%dm 4%05+1 %50 / 1$JL;|:| FELAE 13% 30 7K
S 781928 0. 00

% 30, 3k 6w




=

4
N

ﬁ

iy



=

4
N

1=

iy



=

4
N

1=

iy



